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• Paper part  

Three charged particles (A, B and C) are placed in a line as shown in the figure. 

  (𝐴 , 𝐵 𝐶). 

 

 

 

 

 

 B 

a. Find the magnitude of the net electric force on particle B 

 

B 

b. Draw on the figure above a vector (an arrow) to show the direction of the net electric force on particle B 
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 50cm  

   .2.6N 

Two spheres are charged with different types of charge. The spheres are 50 cm apart as 

 shown in the figure, and the electric force between them is 2.6 N. 

  

 

 

 

 

. 

a. Calculate the charge on each of the two spheres. 

 

cm25 . 

 

b. If the distance between the two spheres is reduced to 25cm,  

What happens to the magnitude of the electric force between the two spheres? Explain your answer  
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P6 × 106𝑁/𝐶 Pcm 15Q

The magnitude of the electric field at point p is 66 × 106𝑁/𝐶 p is 15.0cm away from a charge 

Q as shown in the figure

 

 

 

 

 

 Q 

a. Calculate the charge Q  

 −0.25 𝜇𝐶 p 

 If a test charge with −0.25 𝜇𝐶 was placed at point p, 

b. find the magnitude. And determine the direction of the electric force acting on it. 
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𝑞 = −5 × 10−6𝐶AB 

120𝑁/𝐶 2.5 𝑐𝑚

The figure shows a negative charge of 𝑞 = −5 × 10−6𝐶moving between two charged

plates A and B. The electric field between the plates is 120𝑁/𝐶 , the distance between them is 2.5 𝑐𝑚

a. Find the magnitude of the electric force exerted on the charge  

.

b. Use the information on the figure to determine the direction in which the charge will move.  

Draw a vector on the figure to show the direction of motion.

 

c.  Calculate the magnitude of the work done to move the charge between the Two plates.
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60.0W  12V  

The diagram shows an electric circuit that contains a 60.0 W lamp and a 12.0V battery   

  

 

 

 

a 

a. Find the reading of the ammeter   

.b . 

b. Find the resistance of the lamp  

. c . 

c. Use the circuit symbols to draw a schematic diagram of the electric circuit and 

show the direction of the conversional electric current through the circuit.
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